VARIANT 1

1. Read the text and translate the italised extract in written form.
The First Initiatives – The Stockholm Conference
The origins of present day interantional cooperation on environment and sustainable development go back to the late 1960s, when Sweden took the initiative to palve the issue of environment on the agenda of the Unitied Nations.  The background was an increasign awareness in the scientific community about the serious nature of the negative environmental side-effects of the technological and scientific advances after the Second World War. The initiative also reflected a realisation that environmental problems did not stop at national borders, nor did regional cooperation suffice to draw with them. Sweden thus proposed that a global United Nations Conference bo convened to increase awareness about the implications of this situation among governments and the public at large and to identify those problems which could only, or best, be solved through international cooperation.


The United Nations Conference on the Human environment convened on 5 June 1972 in Stockholm. This day in June is now yearly celebrated as the World Environment Day. The motto of the Conference was “Only One Earth”, a revolutionary concept for its time. The conference was attended by 113 countries at ministerial level and representatives of many internatyional organisations. There were also world leaders present, who set the stage for the next thirty years’ international deliberations by emphasizing the close interrelation between mass poverty and the environment.


The Stockholm Conference adopted a Declaration and an Action Plan, which established the basis for a new era of international cooperation on environmental issues. As a direct result of the Conference, the United Nations Environment Programme (UNEP) was established by the General Assembly of the United Nations with location in Nairobi, Kenia.

The Declaration and the Action Plan with 109 recommendations for international action provided the basis for the rapid development of international environmental law in the 1970s and the 1980s. In this connection, priniciple 21 of the Deckarationa has secial significance. It states that “States have... the sovereign right to exploit their  own resources pursuant to their own environmental policies, and the responsibility to ensure that activities within their jurisdiction or control do not cause damage to the environment of the other States or of areas beyond the limits of National jurisdiction’.


From few in the 1960s,today more than 200 global conventions are in place. These are legally binding instruments, containing commitments by States. They have to be ratified by the legislative organs of each signatory State. Each convention is governed by a Cinference of the Parties (COP) and is serviced by a secretariat. UNEP has a special role in most cases to provide administrative and other kinds of support. The undertakings in the conventions are often amplified by special protocls that contain more detailed and, at times, time bound commitments. An example of one of the early convetions is the Convention on Wetlands, which was adopted in Iran in 1971.

As the globalisation process accelarated in the last 25 years of the 20th century, the Stockholm Conference was used as a model for a series of semelar United nations events to try to come to grips with interlinked and related problems of a cross-sectorial nature such as population, the food crisis, urbanisation, human rights, social dvelopment and gender. 
2. GRAMMAR WORK
A. MAKE THE FOLLOWING SENTENCES PASSIVE:

1. In 1989 the General Assembly decided to convene in 1992 the United Nations Conference on Environment and Development.

2. Chemical substances had damaged the ozone layer and deserts were rapidly expanding.

3. The Rio Conference adopted three documents, the Rio Declaration, Agenda 21 and the Statement of Forest Principles.

4. The Declaration represents a delicate balance of principles considered important by both developed and developing countries.

5. The assessment reports of IPCC have greatly influenced the climate negotiations.

B. MAKE THE FOLLOWING SENTENCES ACTIVE:

6. The 5th of June is now yearly celebrated as the World Environment Day.

7. The United Nations Conference on the Human Environment was attended by 113 countries at ministerial level and representatives of many international organizations.

8. The global conventions have to be ratified by the legislative organs of each signatory State.

9. At the time of the tenth anniversary of the Stockholm Conference in 1982, the question was how lost ground could be regained.

10. The findings have been contested by some scientists.

3. GRAMMAR WORK. WORD-FORMATION
A. TURN THE FOLLOWING VERBS INTO NOUNS:

1. to environ;

2. to aware;

3. to realize;

4. to convene;

5. to ratify.

B. TURN THE FOLLOWING NOUNS INTO VERBS:
6. globalization;

7. government;

8. development;

9. implication;

10. urbanization.

4. VOCABULARY WORK
A. MATCH SYNONYMS:

	1. executive;

2. increase;

3. deficiency;

4. protect;

5. agreement;
	a. inadequacy;

b. preserve;

c. amplify;

d. administrative;

e. convention.


B. MATCH THE WORDS WITH THEIR DEFINITIONS:

	1. environment;

2. deliberation;

3. nature;

4. agenda;

5. globalization;
	a. the external world in its entirely;

b. to make worldwide in scope or application;

c. a list or outline of things to be considered or done;

d. the complex of physical, chemical, and biotic factors (as climate, soil, and living things) that act upon an organism or an ecological community and ultimately determine its form and survival;

e. a discussion and consideration by a group of persons of the reasons for and against a measure.


5. CHOOSE THE BEST VARIANT TO COMPLETE THE SENTENCES:

1. Principle 21 of the Declaration has special (importance, significance, meaning, sense).

2. (evolutive, development, developing, upcoming) countries generally emphasized that satisfaction of basic development needs must have priority.

3. World population had (enlarged, extended, intensified, increased) by 1.7 billion to more than 5 billion.

4. The Stockholm Conference (accepted, adopted, approved, took) a Declaration and an Action Plan, which established the basis for a new era of international co-operation on environmental issues.

5. Sweden took up the recommendation of the Stockholm Conference (to gather, to convene, to take place, to organize) another conference on the human environment.

B. MARK THE STATEMENTS AS TRUE (T) OR FALSE (F). CORRECT THE FALSE STATESMENTS: 

1. The motto of the Stockholm Conference was “Only One Earth”.

2. UNEP was established by the General Assembly of the United Nations with location in Stockholm, Sweden.

3. The serious ozone problem was the subject of a convention signed in Vienna in 1985.

4. The Intergovernmental Panel on Climate Change (IPCC) is composed of the world’s most competent climate scientists, representatives of Government, and experts in the social sciences.

5. The purpose of the IPCC has been to carry out research on its own, to monitor and evaluate existing research, adding its own conclusions and presentations for policy-makers.

6.A. TRANSLATE FROM ENGLISH INTO RUSSIAN:

1. The globalization process accelerated in the last 25 years.

2. UNEP has a special role in most cases to provide administrative and other kinds of support.

3. The Commission further underlined that safeguarding of the environment should not be seen as a sectorial interest, but as an integrated component in all economic and social development.

4. By maintain a certain dualism it could easier be made clear that the responsibility to take action against environmental destruction primarily rested with the industrialized countries which in their view had caused the problems in the first place. 

5. As the perception of global threats to the environment became stronger in the 1980’s, the climate change issue came increasingly into focus.

B. ANSWER THE FOLLOWING QUESTIONS:

6. When and where did the United Nations Conference on the Human Environment (the Stockholm Conference) convene? What are the most significant results of the Conference?

7. What issues did the Brundtland Comission bring up?

8. Giving examples proved environmental deterioration in the 1990’s?


9. What documents did the Rio Conference adopt? Explain their purpose.

10. Why is the process of global warming dangerous?

VARIANT 2

1. Read the text and translate the italised extract in written form.
The Damaged Environment – How Long Will It Last?

Man has influenced the environment in three very different ways: a dramatic reshaping of the landscape to create effecient agriculture ad urban life: a major interference in the biogeochemical cycles of carbon, nitrogen, phosphorus and metals changing the physics and chemistry of the environment throigh increased nutrients flows, acidification, global warming, and increased UV radiation; thousands of chemicals, foreign to the planet and its life forms, have been used extensively in the environment, some of them deliberately to poison life.


The pollution chain is the way that pollutants take from production into the environment over air and water. Some chemicals are easily taken up by life forms, they are bio-available, they may accumulate in organs and tissues, stay in the food chains as they migrate form prey to predatorm even form the mother to the child. Many of them also ens up in man.

Chemicals have special effects in ecosystems. An ecosystem might be completely disrupted if one key species is badly damaged, and prey-predator relationships are changed. Typically ecosystems hit by pollution lose diversity and biomass. At the same time environments that are less diverse, both as landscapes and as ecosystems, are more vulnerable to environemntal impacts. 


Compared to the 1059’s and 1960’s, when the threat form chemical pollution was first grasped seriously, much has happened. Many chemicals have been banned and new chemicals have been designed so they do not accumulate in ecosystems. But old chemicals still leak from the society in to the environment, and new threats are comtunuously discovered. Lately pollutants that influence the sexual defferentiation in animals, the so called endocrine disruptors, have been creating a new scene, a chemical panorama that seems more threatening than before. It is discussed whether endocrine disruptors, also called hormon-mimetic pollutants, can reach man and threaten his reproduction.


Environmental impacts interacts in several ways, either to reinforce one another or sometimes dampen each other. Landscape changes make the environment more or less susceptible fro eutrophication and acidification. For example, a modernised monotonous productionlandscape enhances eutrophication since the factors that reduce nitrogen and phosphorus flows are ansent. In the same time an ecosystem that has relatively few species is less able to withstand the impact of pollution and changes in general, e.g. the Baltic Sea ecosystem. Th environment is more or less robust, that is more or less able to withstans  impact. An environment that has changed but is able to go back to its original status after an impact has ceased, is called resilient.

Some of the impacts that man has had on the environment ill last very long. Changes in infrastructure, roads, buildings etc., will last perhaps to the next ise age, that is many tens of thousands of years. Also landscapes changes, e.g. deforestation and drainage, may be very long lasting. Forests will take hundreds of years to be more natural and a “virgin” forest will take a thousand years to establish itself. A chemical impact will only last as long as the chemical survives. However changes in the biochemical cycles will take hundreds or thousands of years for global impacts to adjust even if mechanisms are available.


Finally some changes are irreversible. To this categiry belongs for example the extinction of biological species. Even if we  will in the long run be able to manage the environment to stop the continued degradation, it is already clear that our children will live in an environment that is a little less rich and a little less diverse than ours.
2. GRAMMAR WORK. 
CHOOSE THE CORRECT PREPOSITION:

1. Many of chemicals end (in, up, on) in man.

2. Many heavy metals are toxic (to, for, at) animals and plants.

3. Several environment pollutants act mostly (on, at, in) a local level.

4. The stratospheric ozone layer protects the Earth (out of, with, from) ultraviolet radiation.

5. Acidification of lakes will, (on, at, in) the end, kill all higher forms of life.

3. GRAMMAR WORK. ADJECTIVES. ADVERBS.
	A. Turn the following adjectives into adverbs:
	B. Turn the following adverbs into adjectives: 

	1. easy;
	1. extensively;

	2. bad;
	2. seriously;

	3. late;
	3. finally;

	4. natural;
	4. probably;

	5. local;
	5. importantly;


4.  A. REWRITE THE FOLLOWING SENTENSES CHANGING THEM INTO THE CONSTRUCTIONS WITH MODAL WORDS:
1. The problem of a reduced efficiency of the photosynthetic process must be submitted to the Conference.

2. An ecosystem might be completely disrupted.

3. Some chemicals may accumulate in organs and tissues.

4. It is discussed whether endocrine disruptors can reach man and threaten his reproduction.

5. We should urgently take into consideration the problem of hormone-mimetic pollutants.

B. REWRITE THE FOLLOWING SENTENSES CHANGING THEM INTO THE CONSTRUCTIONS WITH MODAL VERBS:

6. Changes in infrastructure, roads, buildings etc., will last perhaps to the next ice age.

7. A “virgin” forest will probably take a thousand years to establish itself.

8. Our children will surely live in an environment that is a little less rich and a little less diverse than ours.

9. It is necessary for all environmentally concerned people to have a sound knowledge of the most prominent threats facing the global ecosystem, including humans.

10. Is it possible to stop acidification of lakes?

5.A. MATCH SYNONYMS:

	1. extinction;

2. robust;

3. to withstand;

4. diversity;

5. contaminant;
	a. vigorous;

b. variety;

c. pollutant;

d. disappearance;

e. to resist.


B. MATCH THE WORDS WITH THEIR DEFINITIONS:

	1. a tissue;

2. irreversible;

3. resilient;

4. eutrophication;

5. ecosystem;
	a. excessive richness of nutrients in a lake or other body of water, frequently due to runoff from the land, which causes a dense growth of plant life;

b. the complex of a community of organisms and its environment functions as an ecological unit;

c. any of the distinct types of material of which animals or plants are made, consisting of specialized cells and their products;

d. not able to be undone or altered;

e. able to withstand or recover quickly from difficult conditions.


6. A. CHOOSE THE BEST VARIANT TO COMPLETE THE SENTENCES:

1. Environmental impacts interact in several ways, either (to reinforce, to strengthen, to intensify) one another or sometimes dampen each other.

2. An environment that has changed but is able to go back to its original status after an impact has ceased, is called (elastic, supple, resilient).

3. Some chemicals may (accumulate, gather, hoard) in organs and tissues.

4. Many heavy metals are (poisonous, toxic, venomous) to animals and plants.

5. In the 1970’s and 1980’s it was discovered that the stratospheric ozone layer is being continually (exhausted, depleted, impoverished). 

B. MARK THE STATEMENTS AS TRUE (T) OR FALSE (F). CORRECT THE FALSE STATESMENTS: 

6. Chemicals have no effects on ecosystem.

7. All man-made changes to the environment are irreversible.

8. A chemical impact will only last as long as the chemical survives.

9. The ozone depletion substances and greenhouse gases distribute themselves over the entire earth and thereby establish a global environmental impact.

10. Landscape changes make the environment not susceptible for eutrophication and acidification.

7. A. TRANSLATE FROM ENGLISH INTO RUSSIAN:
1. The pollution chain is the way that pollutants take from production into the environment over air and water.

2. An ecosystem might be completely disrupted if one key species is badly damaged, and prey-predator relationships are changed.

3. An ecosystem that has relatively few species is less able to withstand the impact of pollution and changes in general, e.g. the Baltic Sea ecosystem.

4. Landscape changes, e.g. deforestation and drainage, may be very long lasting.

5. Changes it the biogeochemical cycles will take hundreds or thousands of years for global impacts to adjust even if mechanisms are available.

B. ANSWER THE FOLLOWING QUESTIONS:

6. When was the threat from chemical pollution grasped seriously?

7. What are the ways people influence the environment?

8. What are the most hazardous side-effects of improvement of the environment?

9. Why are the processes of eutrophication, acidification and dispersion of exogenous substances so dangerous?

10. Describe the main threats facing the global ecosystem.
VARIANT 3
1. Read the text and translate the italised extract in written form
Ethics And the Environment

From mid 1980’s to mid 1990’s a series of documents and reports were published which make reference to the importance of a new ethics. Most explicitly perhaps the World Commission on Environment and Development express themselves in thier report (1987) Our Common Future: “We have attempted to demonstrate how human survival and well-being may be dependent on our capacity to successfully transform the principles behind sustainable development into global ethics”.


You may have noticed that most arguments refer to human needs. Since human interests are in the centre of such an ethics it is called anthropocentric ethics. In fact all the ethics western civilisation grew up with is anthropocentric ethics. Respect gor fellow human beings is basic in established documents, such as the United Nations Declaration on human rights, and several others. This ethics may be expressed: as the rights of a group or an individual, as the duties of a gruop or an individual. If we consider that the rights  or duties are equal among the groups or individuals we talk about equity between them. An ethics that is formulated in terms of rights, duties and equity is called an ethics of justice.

Justice between humans takes two forms. It is either justice between humans living here and now, so called intra-generational justice, or justice between us and future generations, so called inter-generational justice.


In fact tthere two large groups of environmentlists, often referred to as the conservationalists and the preservationists. The conservationists have as a goal fot their work to conserve the environment for consumption by present and future humans. The preservationists on the other hand rather see as their goal to protect the environment against the present and future exploitation by humans. The solution of the environmental problems according to them is not that we need to use natural resources more efficiently or more sustainably but rather that we have to respect nature an its integrity.

A strong biocentric ethics argues that man does not constitute a higher form of life than everything else alive. Instead humans are members of a global life community in the same sense as all other forms of life. From this follows a series of duties namely 1) not to hurt other living beings; 2) not to lomit or violate the freedom of other living beings; 3) not to misuse the trust of another being; 4) to make good for those who have been treated in a morally wrong way.

But one may adopt also weaker forms of bioethics. A special form is the so called weak biocentrism. This form holds that actions should be judged based on how they influence other living beings, but with preference for humans and other sentient beings. 


Often human rights are considers higher rights than those of other species. However, there are those who hold that species as such or ecosystems as such are objects for moral considerations and need to be respected. This form of ethics is called ecocentric ethics. One way to define this ethics is “the view that in addition to all living beings, also species, ecosystems, rivers, mountains have a value of thier own and a re morrlly significant, that is may be treated in a way that is morally right or wrong, and man has moral obligations towards them”.
2. CHOOSE THE CORRECT PREPOSITION:

1. Human survival and well-being may be dependent (on, of, from) our capacity to successfully transform the principles behind sustainable development into global ethics.

2. There are two large groups of environmentalists often referred (in, to, after) as the conservationists and the preservationists.
3. Humans have moral obligations (to, towards, for) living beings.

4. A general acceptance of any form of ecocentrism would have a large influence (on, to, in) environmental policy.

5. Basic ethics are often concerned (to, in, with) how we deal with our fellow human beings, but then we talk about those that are close to us now.

3.SAY HOW SURE YOU ARE OF THE FOLLOWING. USE AN APPROPRIATE MODAL VERB:
1. We have such duties as: not to hurt other living beings, not to limit or violate their freedom.

2. We are not allowed to exploit other species.

3. Man has moral obligations towards other species, ecosystems, rivers and mountains.

4. We are not permitted to hunt wild animals.

5. It is necessary to treat all living beings in a morally right way.

4.MATCH THE WORDS WITH THEIR DEFINITIONS:

	1. ethics;

2. conservationist;

3. preservationist;

4. intra-generational justice;

5. inter-generational justice.
	a. a person who advocates conservation esp. of natural resources;

b. justice between humans living here and now;

c. justice between us and future generations;

d. one who advocates preservation;

e. moral principles that govern a person’s or group’sbehavior.


5. MARK THE STATEMENTS AS TRUE (T) OR FALSE (F). CORRECT THE FALSE STATESMENTS: 
1. Since human interests are in the centre of an ethics it is called biocentric ethics.

2. An ethics that is formulated in terms of rights, duties and equity is called an ethics of justice.

3. Anthropocentrism holds that action should be judged based on how they influence other living beings, but with preference for humans and other sentient beings.

4. Ethics of equity holds that species as such or ecosystems as such are objects for moral considerations and need to be respected.

5. Biocentric ethics argues that man does not constitute a higher form of life than everything else alive.

6. ANSWER THE FOLLOWING QUESTIONS:

1. What is an envirionmental value?

2. What are the most important forms of ethics regarding interrelation between humans and the environment?

3. What forms of justice between humans do you know?

4. Who or what is the source of major damage to the Earth?

5. What is the idea of sustainable development?

VARIANT 4
1. Read the text and translate the italised extract in written form
The Legal System And Environmental Law
In our societies decisions are made every day concerning environmentally hazardous activities, e.g. discharges from factories, road constructions and extracts of natural resources. In these decisions environmetla concerns are confornted with other interests. The ledislative bodies of the countries have the task to set up rules how to solve these conflicts. The rules consisting of laws, regulations and other legal instruments, constitute the environmental law of the country. Environmental law is the major way for the policymaking bodies to implement a national environmental policy and, above all, to protect its environment against pollution and other damage. 

Legal instruments are also used when an international convention, e.g. the Baltic Sea Convention, is implemented on the national level.


 Several principals basic to environmental legislation have been developed during the last fifteen years. The Rio Conference on the Environment and Development, UNCED in 1992 played an important role to strengthen these principles.


Most important today is the Principle of Sustainable Development. The essence of this principle is the requirement not to jeopardize the satisfaction of future generations’ needs when we satisfy the needs of today’s generation. This principle is included in the Amsterdam Treaty of the European Union and other international documents which are valid in many countries in the region. It is also included in national statutes, e.g. the new Swedish Environmental Code, and in the Latvian Law on Environmental Protection. 

A decisive question in practice is who should bear the costs of environmental protection.  A second widely accepted principle of basic importance to environemtnal law which adresses this question is the Polluter Pays Principle (PPP). There are impacts or risks of impacts on other person’s health or private property as well as on public interests, e.g. biodiversity.


The PPP says that the polluter has to take the financial responsibility for precautionary measures. The obligation for polluters to pay compensation if a person is hurt or other property is damaged may also be seen as an effect of the PPP. Special pollution taxes are also based on this principle.

Private and public interests are therefore to some extent protected by law. But the question is: should the polluter be compensated if an activity is restricted due to its possible or proven damaging environmental impacts? The answer seems to be in general no. An exception might, however, be the Swedish Constitution, which in unclear. Many lawyers claim that a Polluter is entitled to compensataion if an ongoing polluting activity is restricted, e.g. in connection with a requirement to reduce the emmisions. However, it is important to stress that the PPP applies to pollution situations only. If, e.g. a nature reserve is established in a natural forest with endangered species, and the restrictions prohibit clear-cutting, a land owner would naormally be compensated by direct payment, tax reduction or otherwise.

A third important issue is how to consider risks of environmental impacts. Some legislation requires that precautions be taken, and may even prohibit the activity, although it is not possibl;e to say for sure that damage will in fact occur. 

2.CHOOSE THE CORRECT PREPOSITION:

1. Environmental concerns are confronted (from, about, with) other interests.

2. The legislative bodies of the countries have the task to set (up, on, in) rules how to solve conflicts. 

3. Several principles basic (on, to, at) environmental legislation have been developed during the last fifteen years.

4. The Principle of Sustainable Development is included (at, in, on) the Amsterdam Treaty of the European Union.

5. A decisive question in practice is who should bear the costs (from, of, at) environmental protection.

6. There are impacts, or risks of impacts, (for, on, at) other persons’ health or private property as well as (for, on, at) public interests, e.g. biodiversity.

7. The polluter has to take the financial responsibility (for, with, in) precautionary measures.

8. The obligation (on, from, for) polluters to pay compensation if a person is hurt or other property is damaged.

9. It is important to stress that the PPP applies (at, for, to) pollution situations only.

10. An important issue is how to consider risks (with, from, of) environmental impacts.

3. A. MAKE THE FOLLOWING SENTENCES PASSIVE:

1. The legislating bodies, primarily parliaments, can often not solve conflicts between environmental protection and other interests in the legislation as such.

2. Certain environmental features may influence a culture’s diet, dress, religion, and marriage partnership.

3. The different states use the same types of legal instruments.

4. People should use economic instruments for environmental protection.

5. Law protects private and public interests.

B. MAKE THE FOLLOWING SENTENCES ACTIVE:

6. In our societies decisions are made every day concerning environmentally hazardous activities. 

7. The legislation on control of pollution and nature conversation may be seen as the heart of environmental legislation.

8.  A wider economic perspective has nowadays been accepted in some pieces of legislation and court cases.

9. Should the polluter (developer) be compensated?

10. Strict requirements can be used as an outer limit, “roof”’, for acceptable environmental impacts.

4. A. MATCH SYNONYMS:

	1. hazardous;

2. discharge;

3. implement;

4. to jeopardize;

5. precaution;
	a. foresight;

b. to risk;

c. utensil;

d. dangerous;

e. release.


B. MATCH THE WORDS WITH THEIR DEFINITIONS:

	6. to purify;

7. clear-cutting;

8. to compensate;

9. valid;

10. biodiversity;
	a. having legal efficacy or force;

b. to recompense for loss, suffering, or injury, typically by the award of a sum of money;

c. to extract something from;

d. the variety of life in the world or in a particular habitat or ecosystem;

e. removal of all the trees in a stand of timber.


5. CHOOSE THE BEST VARIANT TO COMPLETE THE SENTENCES:

1. In our societies decisions are made every day concerning environmentally hazardous activities, e.g. discharges from factories, road constructions and (quarrying, extraction, mining) of natural resources. 

2. Private and public interests are (defended, safeguarded, protected) by law.

3. Many lawyers claim that a (polluter, pollutant, pollution) is entitled to compensation if an ongoing polluting activity is restricted. 

4. Environmental concerns are (faced, opposed, confronted) with other interests.

5. If a nature reserve is (set up, ascertained, established) in a natural forest with endangered species, and the restrictions prohibit clear-cutting, a land owner would normally be compensated by direct payment (in Sweden), tax reduction (e.g. Latvia) or otherwise.

B. MARK THE STATEMENTS AS TRUE (T) OR FALSE (F). CORRECT THE FALSE STATESMENTS: 

6. The rules, consisting of laws, regulations and other legal instruments, constitute the environmental law of the country.

7. Legal instruments are not used when an international convention, is implemented on the national level.

8. The essence of the Principle of Sustainable Development is the requirement to jeopardize the satisfaction of future generations’ needs when we satisfy the needs of today’s generation.

9. Special pollution taxes are based on the Polluter Pays Principle.

10. A third important issue is how to consider risks of environmental impacts.

6.A. TRANSLATE FROM ENGLISH INTO RUSSIAN:

1. Environmental law is the major way for the policymaking bodies to implement a national environmental policy and, above all, to protect its environment against pollution and other damage.

2. All economies around the Baltic Sea are nowadays based on private ownership of land, water and natural resources.

3. The economy may be seen as an interest opposite to protection; e.g. treatment of wastewater requires expensive equipment.

4. Pollution is closely connected with the use of chemicals in the industrial process, the use of energy and natural resources, waste management and avoidance of accidents.

5. While cultural cataclysms have an immediate crisis-centered impact on a culture’s development, cultural experts recognize that a culture’s ecology also has a long-term, gradual impact.

B. ANSWER THE FOLLOWING QUESTIONS:

6. How can society regulate environmentally hazardous activity?

7. What legal instruments for environmental protection can you name?

8. What are the most hazardous environmental risks that should become a subject of special concern to all humans?

9. What legal ways are there for modern civilization to eliminate environmental risks?

10. Tell about the situation with environmental law in your country.

VARIANT 5
1. Read the text and translate the italised extract in written form
Acidification of the Soil

The critical load, the ability of the soil to resist is sooner or later used up and it becomes acidified. The following may be said to be the worst effects:
Plant nutrients are leached out. The ability of plants to take up nutrientsdiminishes when the availability of base cations in the soil, such as magnesium, calcium, and potassium, is reduced. Forest growth can be affected, and some sensitive plant species possibly eliminated. It is estimated that the content of easily available base cations in the soil of southern Sweden os declining at a rate of 1-2 % per annum.


Poisonous metals are freed. Aluminium ions, which are poisonous to plant’s root systems, are freed through the weathering of the soil at lower pH-values. As the soil becomes more acid, the mobility of many heavy metals also increases. In acidified soil, it is likely that uptake by the plantsof cadmium, zink, manganese, and nickel, to mention a few, is increased.


Phosphates become bound. Plants also suffer indirectly when the concentrations of dissolved aluminium increased. Alumimiun ions have the ability to bind phosphate, which is an important nutrient and make it less easily available. The effect of an insufficiency of phicphate i moreover heightened when the process of decomposition becomes slowed down in the soil as a result of acidification. Some other important nutrients besides phosphate, such as molybdenum, boron, and selenium, also become less easily available to plants when the soil is acidified.

Up to the early 1980’s, most soil scientists believed belived it to be unlikely that the soil would be affected by acidification. There are parts of Europe where the soil has a large content of easily weathred minerals, enabling it to accept great amounts of acid without becoming acidified. But where the soil minerals weather less easily, as in Scandinavia, the resistance to acidification is low. The amount of acidific deposition that the various types of soil can accepr without becoming acidified, vries in Europe. Continuous sampling in Sweden has shown that the pH value of the soil has decreased by 0.3 to 1.0 units in only a few decades. The drop has not  only taken place in the upper layers, but also far down into the mineral soil. The store of base cations available to plants has on the average been halved in forty years.


While sulphur is responsible for most of the soil acidification caused by air pollutants, nitrogen compounds also contribute, but in a more complicated manner. To put it simply, there will be a net acidifying effect only to the extent that the nitrogen is not taken up by the plants but leached out. An obvious conclusion is that the acidifying affect of nitrogen increases if the vegetation fails to take up as much as is deposited. The resulting state known as nitrogen saturation, relatively large leakages of nitrogen have been noted from forest land.

The nitrogen that is leached out of the soil ends up in streams and lakes where it eventually leads to biological changes. Some finds its way to the sea where the eutrophication effect is still greater causing algal blooms, oxygen depletion, and lifeless depths.
2. PUT THE WORDS IN THE CORRECT ORDER TO MAKE A QUESTION:

1. most evident/on freshwater life/ where/have/of acidification/the effects/been?

2. the number/why/rapidly/does/diminish/of phytoplankton?

3. forest decline/seriously/was/when/air pollutants/the connection/taken/between/and?

4. and/how/toxic substances/ affect/land, water, air living beings/do?

5. fish/stock/the/for/reason/declining/what/main/is?

3. MAKE UP NEW WORDS USING PREFIXES de-, dis- AND EXPLAIN THEIR MEANING:
1. ability – disability;

2. acceleration –
3. acidification –
4. appearance –
5. aquation –
6. composition – 
7. connection –
8. intoxication – 

9. population –
10. position - 

4. A. MATCH SYNONYMS:

	1. to eliminate;

2. conclusion;

3. capacity;

4. to compound;

5. available;
	a. to combine;

b. aptitude;

c. inference;

d. to remove;

e. obtainable.


B. MATCH THE WORDS WITH THEIR DEFINITIONS:

	1. leakage;

2. nutrient;

3. concentration;

4. to deplete;

5. to leach out;
	a. a substance that provides nourishment essential for growth and the maintenance of life;

b. the amount of a component in a given area or volume;

c. the accidental admission or escape of a fluid or gas through a hole or crack;

d. to dissolve out by the action of a percolating liquid.

e. to empty of a principal substance;


5. A. CHOOSE THE BEST VARIANT TO COMPLETE THE SENTENCES:

1. The ability of the soil (to withstand, to resist, to oppose) is sooner or later used up.

2. Alumnium ions are (vindictive, toxic, poisonous) to plants’ root system.

3. Plants (suffer, endure, undergo) when the concentration of dissolved aluminium increase.

4. There are parts of Europe where the (loam, soil, area) has a large content of easily weathered minerals.

5. Aluminium ions are (freed, liberated, exempted) through the weathering of the soil at lower pH-values.

B. MARK THE STATEMENTS AS TRUE (T) OR FALSE (F). CORRECT THE FALSE STATESMENTS: 

6. The ability of plants to take up nutrients is reduced when the availability of base cations in the soil diminishes.

7. Aluminium ions are very useful to plants’ root systems.

8. Molybdenum, boron, selenium become more available to plants when the soil is acidified.

9. As the soil becomes more acid, the mobility of many heavy metals also increases.

10. Where the soil minerals weather less easily, the resistance to acidification is high.

6. A. TRANSLATE FROM ENGLISH INTO RUSSIAN:

1. Large leakages of nitrogen have been noted from forest land in the Netherlands, Denmark, northern Germany.

2. Aluminuim ions have the ability to bind phosphate, which is an important nutrient, and make it less easily available.

3. Most scientists believed it to be hardly likely that the soil would be affected by acidification.

4. To put it simply, there will be a net acidifying effect only to the extent that the nitrogen is not taken up by the plants but leached out.

5. The resulting state, known as nitrogen saturation, can be reached at quite a low load.

B. ANSWER THE FOLLOWING QUESTIONS:
6. What is acidification?

7. What is acidification caused by?

8. Does the ability of the soil in Europe to resist acidification increase? Explain your answer.

9. What is toxicology?

10. What are the causes of forest decline?

6 Вариант I семестр
1. Read the text and translate the extract in italic in written form.

WATER IS LIFE

Water is the natural resource we all know very well. One cannot live without it. We know it’s many forms - rain, snow, ice, hail, vapour, fog. Yet, water is the natural resource we least understand. 

How does water get into the clouds? What happens when it reaches the Earth? Why is there sometimes too much and other times too little of it? And, most important, is there enough water for all the plants, and all the animals, and all the people? Water covers nearly three fourths of the Earth, most being sea water. But seawater contains salts, including those that are harmful to most land plants and animals. Still, it is from the salty seas and oceans that most of our fresh water comes - no longer salty and harmful. Water moves from clouds to land and back to the ocean in a never-ending cycle. Ocean water evaporates into atmosphere leaving salts behind, and moves across the Earth as water vapour. Water in lakes and rivers also evaporates and rises into the air. 

Having cooled in the air the water vapour condenses and falls to the Earth as rain, hail or snow, depending on region, climate, season and topography. This part of the cycle is very important because man can use water stored in the atmosphere only when it falls to the land. 

Every year about 450,000 cubic kilometres of water evaporates from the oceans and about 61,000 cubic kilometres from land sources. Water is an unchanging and ever renewing, resource, but its distribution on the surface of the globe varies greatly - there is either too little or too much water. Many problems are caused by too much water when we do not need it or too little when we want it. No natural resource on our planet has so many uses as water. We need water to support our lives, to grow our crops, to water our stock, to power our industries and for many other purposes. 

There is plenty of water on the Earth. Man's activity is accelerating the process of water pollution, the amount of fresh water available to use is decreasing rapidly. 

Measures must be taken against waste of water and pollution of water. We have to improve methods of irrigation in order to use water more efficiently.

In the recent decades the problem of water supply to people and economics has become extremely urgent. The depletion of such water resources as surface water and ground water is inevitable. 

Water resources are continuously renewed within the hydro-logical cycle. But with the abundance of water in the technological processes in major industries non-returnable losses of fresh water may increase its shortage. Building dams, reservoirs and canals is the important factor of the transformation of the hydrological regime. An essential measure is the conservation of water by all possible means, so as to decrease its expenditure per unit of production until "dry" technologies are established. It is very important to combat the pollution of rain and snow-melt water through the use of herbicides, pesticides and other toxic chemicals. Settling basins should be built to collect the most polluted run-off water especially at the beginning of snow-storms and during snow melt.

It is advisable to use industrial wastewater for field irrigation. This measure is of importance since soil is a very favourable medium for rendering waste water harmless especially if used with small irrigation norms. Thus, waste water which is harmful when discharged into rivers and reservoirs becomes useful. Irrigation can be applied to increase soil moisture, to protect plants from frosts and dry winds, to apply fertilizers. Another measure is the conversion of industrial and heat power generation to closed-recirculating water-supply systems, which do riot require water of high quality. This method of rendering waste waters harmless must form an integral part of production technology.

2 Grammar work

A   Make the following sentences passive.

1. Oceans cover the biggest part of the planet Earth. 

2. Rotting process will give back minerals to the soil, where plants will again use them.

3. Industrial wastes, sewage and agricultural run-off have overloaded rivers and lakes with chemicals, wastes and nutrients.

4. A blanket of invisible gases (carbon dioxide) surrounds the Earth that acts just like a greenhouse.

5. The gases that people have made are damaging now the ozone layer.

B   Choose the correct preposition

1. All life on Earth depends …….. water. 

2. Rivers and lakes are polluted …….. garbage, or ………. poisonous chemicals. 

3. Only a tiny fraction ….. the water, which covers the Earth, is …….. use to humanity: 97% is salt water, filling the oceans and seas.
4. Sediments ….. eroded land silt … dams, rivers and hydroelectric schemes.
5. Man and animals breathe …. oxygen and breathe … carbon dioxide.

C  Which of the two Russian variants corresponds to the English equivalents: 

	1. distilled water 


	a) дистиллируя воду 

b) дистиллированная вода 

	2. treated pollutants 


	a) обработанные загрязнители 

b) обрабатывать загрязнители 

	3. removed particles 


	a) удаленные частицы 

b) удаляющие частицы 

	4. installed clarifiers 


	a) устанавливающиеся осветлители 

b) установленные осветлители 

	5. contaminated sources 


	a) загрязнять источники 

b) загрязненные источники 


D Write down two groups of the following words (nouns and adjectives): 

container, salty, harmful, never-ending, condensation, evaporation, unchanging, supporter, resourceful, precipitation, quantity, quality, irrigation, pollution, consumer, usable, supplier, natural, important, cubic, topography.

3. Vocabulary work

A  Match the words and their definitions. 

	1. groundwater
	A.  water vapour either in the air or condensed on a surface.

	2. wastewater
	B.  the process by which any substance is converted from a liquid state into vapor

	3. moisture
	C.  water that occurs below the surface of the ground (source of water in springs and wells) 

	4. irrigation
	D.  the spent or used water from a home, community, farm, or industry that contains dissolved or suspended matter.

	5. evaporation 
	E.  artificial supply of water to land, to maintain or increase yields of food crops, a critical element of modern agriculture.


B  Match the synonyms 

	atmosphere
	pollution

	contamination
	tank

	reservoir
	downfall

	vaporization
	air

	precipitation
	evaporation


C  Translate the following word chains: 

	1 potential environmental pollutants, 
	5 colour removal techniques, 

	2 artificial wastewater cleaning, 
	6 specially installed clarifiers, 

	3 water pollution control plant, 
	7 distilled water evaporator, 

	4 surface stream substances, 
	8 municipal sewage system.


4 Text work

A  Choose the best variant to complete the sentences.

1. Another measure is the (alteration, conversion, circulation, change) of industrial and heat power generation to closed-recirculating water-supply systems, which do riot require water of high quality.

2. Water (covers, protect, encase, wrap) nearly three fourths of the Earth, most being sea water.
3.  It is advisable to use industrial wastewater for field (evaporation, moistening, irrigation).

4.  Water (tanks, surface, resources, pollution)   are continuously renewed within the hydro-logical cycle.

5. Settling basins should be built to collect the most (contaminated, spoiled, ruined, polluted) run-off water especially at the beginning of snow-storms and during snow melt.

B Mark statements true or false, correct the false ones.

 1. Having warmed in the air the water vapour condenses and falls to the Earth as rain, hail or snow, depending on region, climate, season and topography.

2. Seawater contains salts, including those that are useful to most land plants and animals.

3. Ocean water evaporates into atmosphere leaving salts behind, and moves across the Earth as water vapour.

4. Man's activity is accelerating the process of water pollution, the amount of fresh water available to use is increasing rapidly.

5. Irrigation can be applied to increase soil moisture, to protect plants from frosts and dry winds, to apply fertilizers.

C Translate from English into Russian in written form.

1. Deforestation upstream may cause floods or shortage downstream, while a country's hydroelectric, irrigation and public water projects may cut off its neighbour's supply

2. The ocean, which is a home to so much life, has been used as a place to dump garbage and poisonous chemicals for a long time.

3. "Acid rain" - often caused by power station emissions thousands of kilometres away - sets off a chain reaction, which kills life in vulnerable lakes and rivers.

4. Of over 200 river systems shared by two or more countries, several have already caused international conflict - and as the world grows thirstier these tensions increase.

5. Only a tiny fraction of the water, which covers the Earth, is of use to humanity: 97% is salt water, filling the oceans and seas.

D. Read the text again and answer the following questions. 

1.  Where does most of our fresh water come?

2.  What is the never-ending cycle the article tells about?

3.   Is it true that having cooled in the air the water vapour condenses and falls to the Earth as fog?

4.  Can water evaporate from land sources? 

5.  What is accelerating the process of water pollution?

7 Вариант
ECOSYSTEMS

1. Read the text and translate the extract in italic in written form.

An ecosystem consists of a number of living organisms and their physical environment. The living organisms and their non-living environment are interrelated and interact with each other. 

There are 6 major components in an ecosystem: 

1. inorganic substances 

2. organic compounds 

3. climate, temperature, wind, light and rain which affect all the processes in an ecosystem 

4. producers; green plants which are able to manufacture food from simple inorganic substance in the process known photosynthesis 

5. consumers; primary consumers: they obtain their energy from green plants. But secondary consumers such as dogs and cats feed on other animals. 

6. decomposers, such as bacteria and fungi. Bacteria break down the flesh of dead animals. Fungi break down plant material. They enable chemical substances to return to the physical environment. 

The main processes in ecosystems include: 

1. food chains 

2. materials cycles 

3. development 

4. evolution 

Food chains. The Sun's energy travels through an ecosystem. 

The proper transfer of energy through an ecosystem by the producers, the consumers and the decomposers is called a food chain. 

Materials cycles. Materials cycles include cycles of nitrogen, carbon, oxygen, water and mineral salts. Chemical substances move from the non-living environment to living things. They are then returned to the environment. 

 Development. An ecosystem exists in a state of equilibrium. It can support a certain number of plants and animals of different species. If the population of one animal increased, there would not be enough food and water for all the animals. Consequently, some would die. In this way the ecosystem regulates itself and returns to its state of equilibrium. Ecosystems are not static - they change all the time. Plants and animals are able to adapt to changes in the physical environment. For example, if fire destroyed the vegetation in a region, there would be certain changes. First grass and some flowers would grow. Then insects would appear. The wind would blow the seeds of small trees. These trees would grow and birds and animals would appear. 

Evolution. During long periods of time ecosystems evolve. The evolution of an ecosystem is caused by factors inside and outside it. Consider the evolution of the atmosphere: when life began there was no oxygen in the atmosphere. Consequently, the Sun's rays prevented life from developing on land. The first living organisms developed under the sea. After the evolution of photosynthesis, the oxygen in the atmosphere increased and life expanded. Complex living organisms developed. As the oxygen in the atmosphere increased, a layer of ozone was formed; life would be impossible without it on the surface of the Earth. Today life on the Earth is in danger: man himself might destroy the equilibrium of ecosystem by pollution, extinction of wildlife and unreasonable utilization of the globe's material resource.

Ecosystems are controlled both by external and internal factors. External factors such as climate, the parent material which forms the soil and topography, control the overall structure an ecosystem and the way things work within it, but are not themselves influenced by the ecosystem. Other external factors include time and potential biota. Ecosystems are dynamic entities—invariably, they are subject to periodic disturbances and are in the process of recovering from some past disturbance. Ecosystems in similar environments that are located in different parts of the world can end up doing things very differently simply because they have different pools of species present.  The introduction of non-native species can cause substantial shifts in ecosystem function. Internal factors not only control ecosystem processes but are also controlled by them and are often subject to feedback loops. While the resource inputs are generally controlled by external processes like climate and parent material, the availability of these resources within the ecosystem is controlled by internal factors like decomposition, root competition or shading. Other internal factors include disturbance, succession and the types of species present. Although humans exist and operate within ecosystems, their cumulative effects are large enough to influence external factors like climate.

2 Grammar work

A  Divide the sentences into two groups (real and unreal).  Translate them into Russian.

1. If the amount of energy at the end of a food chain did not depend on the length of the chain each plant would provide a large amount of energy. 

2. The mankind will not be able to save the planet for the future generations unless it follows the simple rules of sustainable development.

3. If there were no atmosphere, there would be no clouds, no rain.

4.  Provided you protect our environment, save rainforests and ozone layer; prevent global warming and stop polluting air and water your descendants will be grateful to you.

5.  If there had been oxygen in the atmosphere when life began, the sun radiation would not have prevented life from developing on land.

B  Rewrite the statements making full second conditional sentences started with If….
1. Without the Sun there would be no light, no heat, no energy of any kind.

2.  Without decomposers chemical substances would not be able to return to the physical environment. 

3.  Without respiration of all living things carbon dioxide would not be returned to the air.

4.  Without ecosystems changes all plants and animals would not be able to adapt to changes in the physical environment.

5.  Having no support from people pandas would become extinct

C  Choose the correct preposition

1.  Interrelations ……….. man and the biosphere are ….. a fairly complex nature.

2.  We have a moral duty to look …. out planet and hand it …..in good order to future generation.

3.  By burning forests, draining wet lands, polluting water, courses and over fishing mankind is rapidly driving many species ….. extinction.

4.  Technology powerfully amplifies the effects …. human beings ……. the biosphere.

5. Apart ….. the amplification of such natural processes … the biosphere, technology has introduced …. the biosphere substances wholly new to it: man-made radio-isotopes and a wide variety … synthetic materials such as plastics, insecticides, herbicides and numerous industrial materials.

D  Put the words in the correct order to make sentences.

1.  ecosystem a number organisms physical of an their consists and environment of living.

2.  are  major in an there 6 components ecosystem.

3.  two of  main in are chains and evolution food processes the ecosystems.

4.  an exists a of ecosystem equilibrium state in.

5.  the of an ecosystem caused by factors evolution is various.

3. Vocabulary work 

A  Find suffixes and prefixes in the following words. In the dictionary for each word find another two words with the same suffixes or prefixes. Try and mind the ecological theme. 

interrelated, decomposer, , inorganic, development, evolution, physical, impossible, unreasonable, replace.

B  Match the words with their definitions.

	1.ecosystem
	a. characteristic of or pertaining to living organisms; of or pertaining to the organs of an animal or plant

	2.decomposer
	b. a complex of living organisms, their physical environment, and all their interrelationships in a particular unit of space.

	3.compound
	c. an organism requiring complex organic compounds for food which it obtains by preying on other organisms or by eating particles of organic matter 

	4.consumer 
	d. any of various organisms that return constituents of organic substances to ecological cycles by feeding on and breaking down dead protoplasm 

	5.organic
	e. a substance formed from two or more elements chemically united in fixed proportions.


C  Match the synonyms.

	substance 
	conform

	adapt
	balance

	vegetation
	evolvement

	development
	matter

	equilibrium
	flora


4 Text work

A  Choose the best variant to complete the sentences.

1. An ecosystem (contains, consists, composes, comprises)  of a number of living organisms and their physical environment.

2.  Green plants which are able to (create, make, produce, invent, manufacture) food from simple inorganic substance in the process known photosynthesis are called producers.

3.  When life began there was no oxygen in the atmosphere, so the Sun's rays (averted, prevented, delayed, impeded, hindered) life from developing on land.

4.  The proper (transfer, transportation, conveyance) of energy through an ecosystem by the producers, the consumers and the decomposers is called a food chain. 

5.  As the oxygen in the atmosphere (enlarged, increased; raised, intensified, multiplied) a layer of ozone was formed; life would be impossible without it on the surface of the Earth.

B Mark statements true or false, correct the false ones.

1.  There are 6 major components in an ecosystem: decomposers, organic compounds, climate, producers, customers, inorganic substances. 

2.  Bacteria and fungi enable chemical substances to return to the physical environment. 

3.  Materials cycles include cycles of nitrogen, carbon, oxygen, water and mineral water.

4.  After the evolution of photosynthesis, the oxygen in the atmosphere decreased and life shrank.

5.  The main processes in ecosystems include: food chains, materials cycles, development, evolution.

C Translate from English into Russian in written form.

1.  Both living and non-living components make up ecological systems that may be of different size, the largest ecosystem of all is our planet that is known as an ecosphere or biosphere. 

2.  The biosphere is the region extending a few thousand feet above and below the Earth's surface in which life exists. 

3.  Man, like every other living organism, depends for his life on what the biosphere provides: water, oxygen, food and shelter.

4.  Prehistoric man withdrew from the atmosphere only the oxygen he required for respiration; technological man consumes a far greater amount of oxygen to support fires, power plants and chemical processes.

5. Both scientists and politicians agree that unless some radical steps are taken before long, life on our planet may be irrevocably damaged if not destroyed altogether.  

D. Read the text again and answer the following questions. 

1.  What do bacteria do in an ecosystem?

2.   Where do primary consumers obtain their energy?

3.   How do primary consumers differ from secondary consumers? 

4.  What is called a food chain?

5.  Why did life on the Earth expand?

8 Вариант
1. Read the text and translate the extract in italic in written form.

UTILIZATION OF NATURAL RESOURCES

Natural resources refer to those materials and resources that occur naturally in a locality, such as minerals, forests, wildlife and fertile land. Appropriate utilization of natural resources play an important role in leading a nation towards the economic and industrial development stage.  

The problem of national utilization of natural resources is of greatest importance all over the world today. There are two main aspects of the problem: first - all natural resources are to be used more economically as they are not unlimited, and second - measures are to be taken to prevent harmful effect of waste products of industrial enterprises on the environment.  

All people are interested in nature preservation as all natural resources are national property. In Russia the programme on nature conservation has always been part and parcel of the development of national economy. As a result in Russia pollution of the environment as a whole is 10-20 times lower than in the USA or FRG. 

Now in the period of most intensive development of industry and agriculture, the programme of nature conservation is of special importance. According to this programme, practical measures on rational and economic utilization of natural resources in different spheres of economy are planned. 

One of the means to solve both aspects of the problem is to build complex enterprises. It means that the production process in the complex must be organized so that waste products of one enterprise could be utilized and processed by another. On the one hand, it will have great economic effect, and, on the other hand, will protect air and water from pollution.  

Though complex enterprises will require rather big capital investments, it is better both from economic and ecological point of view to prevent pollution of the atmosphere than to liquidate its effect. 

For example, it has been shown that under the influence of air pollution the yield of wheat decreases by 40-60%. When we use natural resources we should be careful not to destroy the balance of the biosphere in order to preserve nature not only for people living now, but also for those who will live many thousand years after. 

Natural resources are necessary to sustain a living on this earth.   People not only use these resources to maintain an existence but also to make a living out of their utilization.   A fertile land is one of the most important natural resources. It allows human beings to grow food such as rice, wheat, maize, vegetables and fruits etc.   This is not only a source of food for people across the world but wildlife, domestic animals, birds and insects also rely on this vegetation for their survival.  This calls for the formulation and implementation of appropriate land policies for a better livelihood of the poor, as well as increased private investment in agriculture. Working forests are also the nature's gift to the economy.

To realize measures to be taken for nature conservation, to fulfill the programme on rational use and reproduction of natural resources, co-operation of specialists in different spheres of science and practical activities - sociologists, biologists, economists, physicists, biochemists, mathematicians, geologists, agronomists, foresters, engineers - is wanted.  

2 Grammar work

A   Make the active sentences passive.

1. We need cooperation of specialists in different spheres of practical activities to solve this complex problem of nature conservation.

2. We have to give basic information on ecology to future ecologists, biologists, geologists, economists, engineers, and students of other specialties.

3. The article gives recommendations on the usage of some unusual energy resources to those who are interested in ecological problems. 

4. We know that waste products of chemical enterprises are harmful for environment.

5.  Scientists classify certain types of wastes that cause immediate danger to exposed individuals or environments as hazardous.

B  Choose the appropriate modal verb.

1.  Our country's pollution (can, should, might) be every country's problem.

2.  We all (must, ought to, need to, are to) work together to safeguard our environment.

3.  We (must not, can not, may not, need not) sacrifice our future well-being for short-term gains, nor pile up environmental debts, which will burden our children.

4.  Where there are real threats to our planet we (may, ought to, have to, can) take great care: prevention (can, could, might) often be better and cheaper than cure.

5.  To solve ecological problem only environmentalists (must, have to, need to) cooperate.

C  Choose the correct preposition.

1.  The programme …. rational utilization and reproduction …. natural resources is …. great importance …. nature conservation.

2.  The ideas and practices that fall ….. the heading of industrial ecology are still … their infancy.

3.  In all probability, only a small fraction of U.S. manufacturing companies are aware … them or have actually put them ….. practice.

4.  Ocean mechanical energy is quite different …. ocean thermal energy.

5.  Even though the sun affects all ocean activity, tides are driven primarily …. the gravitational pull …. the moon, and waves are driven primarily …… the winds.

3. Vocabulary work 

	A  Turn the following verbs into nouns
	B  Turn the following nouns into adjectives

	utilize
	limit

	preserve
	ecology

	environ
	harm

	emit 
	hazard

	invest
	profession


C   Match the words with their definitions.

	1.intensive
	a. the activity of protecting something from loss or danger

	2.measures
	b. characterized by intensity or a high degree

	3.reproduction
	c. expenditure of money or effort for future benefits

	4.preservation
	d. a process by which organisms replicate themselves, assuring continuation of their species.

	5.investment
	e. any maneuvers made as part of progress toward a goal


D  Match the synonyms.

	decrease
	company

	energy
	infinite

	source
	reduce

	enterprise
	vigor

	unlimited
	origin


4 Text work

A  Choose the best variant to complete the sentences.

1.  In Russia the programme on nature (guarding, preservation, protection, conservation) has always been part and parcel of the development of national economy.

2.  One of the (methods, mediums, means, ways) to solve both aspects of the problem is to build complex enterprises.

3.  The problem of national utilization of natural resources is of greatest (significance, importance, consequence, worth, status) all over the world today.

4.   To realize (steps, measures, actions, means) to be taken for nature conservation, to fulfill the programme on rational use and reproduction of natural resources, co-operation of specialists in different spheres of science and practical activities is wanted.

5.  All people are interested in nature preservation as all (earthbound, natural, organic, physical) resources are national property.

B  Mark statements true or false, correct the false ones.

1. The problem of national utilization of natural resources is of the least importance. 

2. All people are interested in nature preservation. 

3. Practical measures on rational utilization are planned. 

4. To solve the problem is enough to protect air and water from pollution. 

5. When we use natural resources we should be careful to destroy the balance of biosphere. 

C  Translate from English into Russian in written form.

1.  Air pollution is the result of man's use of lethal chemicals, and is a common hazard in both industrial and developing countries. 

2.  Acid rain results from the release into the atmosphere of sulphur oxide and nitrogen oxide. 

3.  Electrical generating plants, industrial boilers, large smelters, and automobiles are among the chief sources of these emissions. 

4.  The gases react with water droplets, forming a diluted mixture of sulphuric acid and nitric acid, and it is this mixture that returns to the Earth in the form of acid rain, mist, or snow. 

5.  Acid rain has acidified lakes and streams, rendering them unable to support fish, wildlife, plants, or insects. 

D. Read the text again and answer the following questions. 

1.  Is utilization of natural resources a local problem? 

2.  How many aspects are there in the mentioned problem?

3.  What are people to do concerning utilization of natural resources?

4.  How has air pollution influenced the yield of wheat?

5.  What do we need the co-operation of specialists in different spheres of science and practical activities? 

9 Вариант
STRATOSPHERIC OZONE

1. Read the text and translate the extract in italic in written form.

Ozone plays an important role in the high atmosphere in addition to screening out UV-B. By absorbing ultraviolet sunlight, ozone deposits the heat associated with this light into that level of the atmosphere, thus creating a layer much inner than those immediately below. The stable region is the stratosphere. It is in this stable layer that disturbing changes are occurring. As scientists' understanding of the chemical reactions that create and destroy ozone increased, it became clear that relatively small quantities of some substances could change these reactions and hence the amount of ozone in the stratosphere, provided those substances were placed in the high atmosphere. And chlorine, an effective chemical catalyst that can change ozone into normal oxygen, is appearing in rapidly increasing concentrations in the atmosphere. 

Ordinarily there is very little chlorine in the stratosphere. Chlorine gas is sometimes spilled in industrial or shipping accidents, but this gas reacts strongly with almost any water drop or particle it touches and, as a result, is used up long before it can diffuse upward. Ocean waves throw up small droplets of salty water, some of which evaporate, leaving salt particles in the air. Although these particles contain chlorine, the chance that one of them will get as high in the atmosphere as the ozone layer is small, since salt is very soluble and these particles are readily washed out of the air by the rain. Some biological systems emit methyl chloride, a gas that contains chlorine. But this gas reacts fairly rapidly with other substances, and most of it disappears before it can diffuse to the stratosphere. Thus, strong barriers prevent chlorine from reaching high in the atmosphere, unless people contrive to put it there. 

 
If we did wish, for some reason, for chlorine at the Earth's surface to move into the atmosphere, we would have to arrange for the emission at the surface of the Earth of a chlorine-containing gas. We would, in addition, have to find a chlorine-containing gas that did not react readily with anything, one that was not very soluble, and one that, upon reaching the stratosphere, could be broken down to release free chlorine only by the action of strong ultraviolet light. (If it were broken down too soon, by sunlight that penetrates low into the atmosphere, the free chlorine would react with something and be removed.) The properties I have just described would also make the gas extremely useful here at the surface of the Earth, and people have worked hard to create such a substance. 

Laboratory scientists created such substances decades ago. They are called chlorofluorocarbons, indicating that they contain carbon, 'fluorine, chlorine, and sometimes hydrogen. The name is frequently abbreviated to CFC, and a numbering scheme is used to tell how much of each element is in the molecule of the particular CFC under discussion. CFC-12, for example, has one atom of carbon, no atoms of hydrogen, two atoms of fluorine (and, by implication, two atoms of chlorine) in each molecule. 

Two of these substances, CFC-11 and CFC-12, have proved so valuable in a number of applications that more than 20 million tons have been manufactured worldwide. Most of these 20 million tons still exist and either escaped to the atmosphere or eventually will. Once in the air, these substances mix and diffuse, finally reaching all parts of the atmosphere. Those CFC molecules that find themselves in the stratosphere are subjected to intense ultraviolet radiation from the Sun; they split apart into smaller fragments, releasing chlorine. The chlorine then starts a new career as a catalyst in the reactions that destroy ozone. 

 Damage to the layer of ozone in the high atmosphere by human activity is complex, esoteric, and completely invisible to anyone but the scientists who are studying the issue. Yet, people who twenty years ago had never heard the word ozone are now worried about its disappearance.

2 Grammar work

A   Make the passive sentences active.

1. They are called chlorofluorocarbons. 

2. The name is frequently abbreviated to CFC, and a numbering scheme is used to tell how much of each element is in the molecule of the CFC under discussion. 

3. These particles are readily washed out of the air by the rain. 

4. Those CFC molecules that bind themselves in the stratosphere are subjected to intense ultraviolet radiation from the Sun. 

5. The stable layer is disturbed by chemical reaction. 

6. Chlorine gas is something spilled in industrial or shipping accidents.

B  Choose the appropriate verb to fill in the gaps. Mind the grammar.

build.

tell 

kill 

know 


give

1. I want him ……me about the application of this method. 

1. People living there don't want this electrical power plant …… 

1. The students are said …………..the ecology well. 

2. ………the students the necessary knowledge of the lethal chemicals was the main task of the laboratory work. 

5. They are expected…….. many trees in the area. 

C  Choose the correct preposition.

1.  The impact … industry … the biosphere is compensated .. the inner resources of nature's self organization.  

2.  These "green friends" are capable … assimilating various components … industrial pollutants …. the atmosphere.

3.  They absorb noxious gases which have a negative effect …the environment and release oxygen … the atmosphere.

4.  People in super cities suffer ….. polluted environment: bad water, bad air and noise.

5.   Helsinki becomes one … the cities with the largest proportion …CO2 … the air in winter. This must be connected ….. the heating … houses.

3. Vocabulary work 

	A  Turn the following verbs into nouns
	B  Turn the following nouns into adjectives

	consume 
	industry

	eject 
	nature

	combust 
	structure

	purify 
	environment 

	vary
	physics


C   Match the words with their definitions.

	1. green house      effect
	a.  the phenomenon by which the Earth's atmosphere traps some of the Sun's heat as it radiates from the Earth's surface.

	2. ozone layer
	b.  the complex of climatic, adaptive and biotic factors that act upon organisms and ecological community  and ultimately determine its form and survival.

	3. environment
	c.  a specialist in a branch of science concerned with the interrelationship of organisms and their environment.

	4. ecologist 
	d.  a person who works toward protecting the environment from destruction or pollution.

	5. environmentalist
	e.  a region in the upper atmosphere containing a high amount of ozone gas that absorb the Sun's ultraviolet radiation.


D  Match the synonyms.

	emanation
	dispersion

	receptacle
	emission

	screen
	container

	resultant
	protect

	diffusion
	consequent


4 Text work

A  Choose the best variant to complete the sentences.

1.  Damage to the layer of ozone in the high atmosphere by human activity is (difficult, complex, troublesome, hard) esoteric, and completely invisible to anyone but the scientists who are studying the issue.

2.  By absorbing ultraviolet sunlight, ozone deposits the heat associated with this light into that level of the atmosphere, thus (making, organizing, creating, arranging) a layer much inner than those immediately below.

3.  Thus, strong barriers prevent chlorine from (getting, reaching, touching, matching) high in the atmosphere, unless people contrive to put it there. 

4.  As scientists' understanding of the chemical reactions that create and destroy ozone increased, it became (clear, pure, obvious, evident)  that relatively small quantities of some substances could change these reactions and hence the amount of ozone in the stratosphere.

5.  People who twenty years ago had never heard the word ozone are now (excited, worried, concerned, provoked)  about its disappearance
B Mark statements true or false, correct the false ones.

1.  It is in this inner layer that disturbing changes are occurring.

2.  Suppose we did wish, for some reason, for chlorine at the Earth's surface to move out of the atmosphere, we would have to arrange for the emission at the surface of the Earth of a chlorine-containing gas.

3.  Chlorine, an effective chemical catalyst that can change ozone into normal oxygen, is appearing in rapidly increasing concentrations in the atmosphere.

4.  Chlorofluorocarbons, indicating that they contain carbon, fluorine, chlorine, and sometimes hydrogen, are frequently abbreviated to CO2, and a numbering scheme is used to tell how much of each element is in the molecule of the particular CO2 under discussion.

5.It is known that ozone plays an important role in the high atmosphere in addition to screening out UV-B.

C Translate from English into Russian in written form.

1.  Oxygen usually consists of two molecules, but in the form O3, it has 3 molecules. O3 is a pale blue gas which when concentrated can easily explode, and it causes the dark colour in the sky when there is a storm. 

2.  It is created by nitrogen oxides and hydrocarbons from car exhausts and it is the most dangerous chemical in air pollution in our cities. 

3.  But if O2 is bad for life near the ground, high in the atmosphere is good for life. 

4.  Here it is destroyed by chlorofluorocarbons produced by fridges, sprays and air conditioners, and in 1985 scientists noticed for the first time that above Antarctica there was now a hole in the O3 layer. 

5.  This hole lets in ultraviolet rays from the sun, which in the next seventy years will cause at least seven million extra cases of skin cancer in the United States alone.

D. Read the text again and answer the following questions. 

1.  How does ozone deposit the heat into the atmosphere?

2.  What can reactions change chemical reactions and hence the amount of ozone in the stratosphere?

3.  What would we have to do if we wished for chlorine to move into the atmosphere?

4.  What substances is abbreviated to CFC?

5.  What happens to CFC-11 and CFC-12 in the air?

10 Вариант
1. Read the text and translate the extract in italic in written form.

ECOLOGICAL PROBLEMS AND SOLUTIONS

If a chemist or a physicist or anyone for that matter endeavoured a brief description of the current environmental problems, he would find it troublesome and far exceeding the knowledge of an individual scholar, for the situation with our environment has long become a subject of joint research of scientists from different fields who have to combine their wisdom and information from still other domains, with experts in sociology, psychology, philosophy hurriedly coming into the picture. 

Yet, to put it briefly, one of the causes of the current situation with our environment should be searched in the lack of development of particular fields of knowledge, and of an inadequate picture of the intricately acting whole, which our planet. 

It is man's intervention in nature that has singled him out from the rest of the animal world since his early days. It is this very intervention that has landed him in this highly technological world of ours, with the rate of progress in particular fields being faster than that in our fundamental knowledge of the general operation of the Earth. 

It is this very discrepancy between the two rates which appears to be the cause of most of today's problems. This is, by no means an exhaustive explanation, overlooking as it does, the social factor. 

The threat to his environment is a demanding problem man has to cope with at the beginning of the 21st century. What is so particular about the environmental crisis when compared with the other menacing problems that of a nuclear catastrophe, say? Surely not its global character and everybody's involvement. 

A nuclear catastrophe, as seen nowadays by practically everyone everywhere, would inevitably involve any country, no matter how small or big it is, and would disturb every individual, whatever life he might be living. Should it happen, its inescapability is too obvious to be disputed. So is its explosive character. 

In contrast to this the environmental crisis is of an accumulative nature. It is just not clearly understandable and the intricate pattern of the interaction of all factors that makes it so hazardous. For no single action taken, or decision made, can bring about an immediate catastrophe, nor could there be the last step that would set in motion an avalanche of irrevocable and immediate events leading to the ultimate doomsday. It is only step by step that we approach the critical point. 

Consequently, what is needed first and foremost is that we take close to our hearts the possible adverse impact of the long-range effects of our actions, however noble the motives may seem to us at present, on the entire human civilization. Should we fully realize the danger, quite a new approach to the problem would appear. 

Next comes the urgent need for basic research to get more profound knowledge of the cause-effect relationship, the time factor necessarily taken into account, in the whole realm of human environment, both natural and man-invaded.  

Fundamental and irreversible as they may often be, the changes in our environment are not likely to bring mankind to the brink of extinction overnight. It would take us some time yet to get there. So let us use the time for learning how to preserve our planet in good shape and in running order for an indefinitely long time.
2 Grammar work

A.  Read the following sentences. Pay attention to emphasis with "it". Write out another 5 inverted sentences from the text. Translate them.

1. It is these properties of crystals that are the most important. It was the laboratory where all this started. 

2. It is crude oil that comes from the ground. 

3. It is man's intervention in nature that has singled him out from he rest of the animal world. 

4. It is this mixture that returns to the Earth in the form of acid rain. 

5. It is in this stable layer that disturbing changes are occurring.  

B  Choose the appropriate verb to fill in the gaps. Mind the grammar.

study 

support
speak 

be

purify

1. I've heard the professor ……… about a new method of using solar energy. 

2. …………its effects one needs good laboratories. 

3. This method is believed …………the best one. 

4. …………..wild life much more attention must be paid to ecology. 

5. The fishermen of the village would like the lake ……. . 

C  Choose the correct preposition.

1.  The weather has a powerful effect ……people.

2.  Low air pressure also increases forgetfulness: people leave more packages and umbrellas …. buses and in stores …. low-pressure days. 

3.  People show concern … the threats the planet faces - destruction …. the rainforest, holes … the ozone layer, the greenhouse effect, and too much garbage, and all forms …. air and water pollution.

4.  If the Earth's temperature gets hotter …. just a few degrees, it could change the weather all ….. the planet.

5.   ……. the recent decades the problem …. water supply …. people and economics has become extremely urgent.

3. Vocabulary work 

A   Match the words with their definitions.

	1. treat
	a.  any interference that may affect the interests of others; especially, of one or more states with the affairs of another

	2. intervention
	b.  something that is a source of danger;

	3. inevitably
	c.  a sense of concern with and curiosity about someone or something;

	4. extinction  
	d.  without possibility of escape or evasion

	5. involvement 
	e.  state of being extinguished or of ceasing to be


B  Match the synonyms.

	endeavour
	decline

	disaster 
	divergence

	irrevocable
	attempt 

	discrepancy
	catastrophe 

	deterioration
	irreversible


4 Text work

A  Choose the best variant to complete the sentences.

1.  One of the causes of the current situation with our environment should be searched in the lack of (intelligence, knowledge, development, money) of particular fields of knowledge.

2.  The (difference, inconsistency, disagreement, lack of accord, discrepancy) between the rate of progress in particular fields and our fundamental knowledge of the general operation of the Earth appears to be the cause of most of today's problems.

3.  Man's (protection, intervention, concern, damage, pride) in nature has singled him out from the rest of the animal world since his early days.

4.  A nuclear catastrophe would disturb every individual, whatever life he might be living, and its inescapability is too (dangerous, obvious, evident, clear) to be disputed.

5.  The changes in our environment are not likely to bring mankind to the (brink, shrink, edge, verge)

of extinction overnight.

B  Mark statements true or false, correct the false ones.

1.  It is this very inversion that has landed him in this highly technological world of ours, with the rate of progress in particular fields being faster than that in our fundamental knowledge of the general operation of the Earth. 

2.  The situation with our environment has long become a subject of joint research of scientists from different fields who have to combine their wisdom and information from still other domains, with experts in sociology, psychology, philosophy hurriedly coming into the picture.

3.  This difference, by no means is an superficial explanation, overlooking as it does, the social factor.

4. Telling the truth, a nuclear catastrophe, as seen nowadays by practically everyone everywhere, would inevitably involve any country, no matter how small or big it is.

5.  What is needed first and foremost is that we take close to our minds the possible adverse impact of the long-range effects of our actions.

C Translate from English into Russian in written form.

1.  As scientific and technological progress continues (and this process is irreversible) it demands an increasingly cleaner environment.

2.  Whereas in the factory, we can in some way limit the effect of an aggressive, eroding environment by insulation, ventilation, filters and air-conditioning, once leaving the workshop we are attacked by the aggressive environment of any large city.

3.  Even the buildings and structures deteriorate and you can see the effects with the naked eye.

4.  A large city is a model of the undesirable ecological future which would befall all of us if we had not already alerted ourselves to the danger and begun thinking about what is to be done.

5.  The main problems of the big cities include: human health in a large city, the potential for further scientific and technological progress and, finally, the preservation of natural elements present in the city itself and its environs.

D. Read the text again and answer the following questions. 

1. Why can’t an individual scientist describe the environmental situation? 

2. What is a demanding problem man has to cope with at the beginning of the 21st century? 

3. What is common and what is different between environmental crisis and nuclear catastrophe? 

4. What has separated man from the rest of animal world? 

5. What is necessary to do to preserve our planet?

